Dodge Ball©





Player One begins by filling in the first horizontal row of his table with a string of X’s and O’s. 





Then Player Two places either one “X” or one “O” in the first box of her board.  





The game continues with Player One writing down a string of six letters (X’s and O’s), one in each box of the second horizontal row of his board, followed by Player Two writing one letter (an X or an O) in the second box of her board.  They proceeds in this fashion until all the boxes are filled with X’s and O’s.    All marks are visible to both players at all times.  





Player One wins if any horizontal row he wrote down is identical to the row that Player Two created (Player One ‘matches’ Player Two).  Player Two wins if Player Two's string is different from all of the six strings that Player One made (Player Two ‘dodges’ Player One).  





Would you rather be Player One or Player Two?  Who has the advantage?  Can you devise a strategy for either side that will always result in victory?  





